Iy

Iy =

Iy =

Iy =

I3

I§
I

Iy

= (3u'? + u! + 4010 -
— 4" b
— 6u® + 100" — 10u® + 8u°
+ 27481697b — 99369926,
+ 274816970a — 993207167, u** + 3u'® + - --

12n0496 (K12n0496)

Linearized knot diagam

NN

8§ 10 2

12 4 7 5

Solving Sequence

9

6

7

A knot diagrarrﬂ

47—»8»912»1—»3~>6—> 2 —> 5 —> 1»10%01,64,09
Ccr C10

(& Ci2 C3

Ce

C2 Cs  C11

Ideals for irreducible component#ﬂ)f Xpar

—utt —2uf + B
'+ 3u' — 3u'0 + 64°
(—12498270u"? —
—80173179u"® —

(—ub — 2u* —u?

2u8a + 2u’a + 3u® + 6uta + v’ + 4ula + 5ut + 8ula + 4u® + 2a? + dau + 6u + 20+ u — 1,

5u” + 3u®

27347075u'® + - - -
177871512u'8 + - -

a—ud—2u>+b—a—u,

—u” +3ub —5u°
— 4u® + 5ut

u” +2u° +ut 20 Fu? 1)

b+1, —u? +2a+u+2, u* +u?+2)
= (—uM +u® —4u® 4 4u® — 7" + Tub — 5u® + 5ut —u
u'? —u' + 4u® — 4® + T — Tu” + 5ub — 5P 4 ot
=(b+u, 2a —u+1, u?+1)
={b-1, v +u®+2a+u—3, ut +1)

={(a, b—1,v+1)

2

a—uwd+ul+b—a

—u 1)

* 8 irreducible components of dim¢ = 0, with total 82 representations.

fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].

1

— Tut + 2u% + 8b + 8u + 6,
—2ud 4+ 4u? + 4a — 2u + 2,
— 9u* 4 6u°

2u

—2u® + 2u +2)

1

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

+ 18u + 5)

u10+...

+a? + 2,


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I.
I = (Bu'?4u't+..-+8b+6, —u't—2u+---+4a+2, u'®+3u't+. - -+2u+2)

(i) Arc colorings

o ()

1
a7 = 0
1
a8: u2
u? +1
ag— uz
1,11 1,9 1 1
W T Rut AU
a1 = 7%u127§u11+”.7u7%
(gu12+§u“+---+§u+%>
= 3,12 1,11
“ TRUT T RU A mu— g
U
a3 = \uyd+u
ag = —§u12+§u11+~--—%u2+%
1,11 1.9 1 1
= 1,12 _ 3,11 2 "1
az <_8u u +_Z'U/ — 2
—u
as = 7%&12+1U11+ w1l
—ut —u? -1
a1l = _%u12 1u11_~_._ —2u—1
-1
a0 = —%um %ull—&--- —2u—1
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 2ul? 4 3ot 4 909 — B398 4 2y T — 2146 4 2245 — Byt 4 10ud — Ju® +8u—9

in decimal forms when there is not enough margin.

2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ u® +ul? 4 4 45u 44
C2,C5, Cgq u13+3u12_~_.“+3u+2
C11,C12
C3,C4,C7 u13+3u11+--~+2u+2
Cy
cs, C10 u® —6u? 4+ 12u+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘@ Yy 11y -+ 913y — 16
C2,C5, Cgq y13_y12+_“+45y_4
C11,C12
C3,C4,C7 y13+6y12++12y—4
Cy
€8, C10 y13 + 6y12 4+ -4+ 592y — 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.929226 + 0.2800591
= —1.57901 + 0.350781
= —1.020380 + 0.6652551

—0.97155 4 5.229711

—12.23690 — 3.974231

= 0.929226 — 0.2800591
= —1.57901 — 0.350781
= —1.020380 — 0.6652551

—0.97155 — 5.229711

—12.23690 + 3.974231

= 0.167516 + 0.8666991
= —0.245529 + 0.5840831
= 0.173060 — 1.2670701

4.28319 — 0.900801

—9.45658 +- 7.471521

= 0.167516 — 0.8666991
= —0.245529 — 0.5840831
0.173060 + 1.2670701

4.28319 + 0.900807

—9.45658 — 7.471521

0.796399 + 0.9159051
1.57817 — 0.322071
0.871377 + 0.4161921

—3.44917 — 7.305201

—10.1022 4 10.29491

0.796399 — 0.9159051
= 1.57817+ 0.322071
= 0.871377 — 0.4161921

—3.44917 4 7.305201

—10.1022 — 10.29491

= —0.369074 + 1.1828001
0.137445 + 0.0363001
= —0.850920 — 1.1248301

8.13648 4- 2.112841

—3.39753 — 3.181791

—0.369074 — 1.1828001
0.137445 — 0.0363001
—0.850920 + 1.1248301

8.13648 — 2.112841

—3.39753 4 3.181791

—0.741404 + 0.9950261
1.037390 + 0.5539151
0.730597 + 0.2046541

—2.95235 4+ 4.563731

—7.10603 — 0.265741

—0.741404 — 0.9950261
= 1.037390 — 0.5539151
= 0.730597 — 0.2046541

> Q& €|l & €|l & €| €| 2 €| Q@ &l 2 €|l & €|l & €| & &
I

—2.95235 — 4.563731

—7.10603 + 0.265741




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.577273 + 1.2536701
a = —1.44865 — 1.149891
b= —1.22052 + 0.785291

5.1437 +16.40221

—7.06197 — 9.593631

u = —0.577273 — 1.2536701
a = —1.44865 + 1.149891
b= —1.22052 — 0.785291

5.1437 — 16.40221

—7.06197 + 9.593631

u = —0.410781
a = —0.959635 —0.641398 —15.2780
b= —0.366431




IL.
Iy = (—1.25 X 107u'? —2.73 x 107u'® 4. .- 4+ 2.75 X 10”6 — 9.94 X 107, —8.02 X
1076 —1.78 X 103u!® +. - . 4+2.75 X 10%a—9.93 x 10®, u?°+3u'?+...4+18u+5)

(i) Arc colorings

e
)
)

a7 =

ag =
241
+)
.291733u'9 4+ 0.647236u'® 4 - - - + 4.92689u + 3.61407>
454785u19 +0.995101u!® + - - - + 7.42465u + 3.61586

0.163052u!® — 0.347865u!® + - - - — 2.49775u — 0.00179062

ay = ( 0.454785u'? 4 0.995101u'® 4 - - - 4 7.42465u + 3.61586 )

u
ag =

asz =

ud —|—u>

—0.864463u'® — 1.98643u'® + - - - — 16.6818u — 6.40771)

ag =

—0.595689u'? — 1.29703u'® + - - - — 9.53604u — 3.85004

—0.653089u — 1.43379u'8 + ... — 9.37011u — 2.98023
—0.349978u1% — 0.737864u'® + - - — 3.91291u — 1.28352

—0.821168u' — 2.00657u'® + - .- — 18.8114u — 8.21548
—0.621168u" — 1.40657u'® + - -- — 10.8114u — 4.61548

—0.361356u'® — 0.786551u!® + - .. — 5.44322u + 0.633834
0.104807u' + 0.257238u!'® + - - - + 2.51174u + 2.33233

<0.923097u 19 _9.14812u!8 + - .- — 14.5205u — 4.80434)

ag =

as =

ail =

aip = 1
(ii) Obstruction class = —1
_ _ 7065492 19 _ 31839998 18 103205694, _ 125331692
(iii) Cusp Shapes = — 576U o7asicor ¢ Tt 7agieor Y T S7asieor



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u'® + 3u® + 11u® 4 18u7 + 33uS + 32u® + 34u* + 18u® + 8u? +u +1)?
C2,Cs5,Cg (ulo o S 4207 + 30 — 4w 4 4ud — o+ 1)2
C11,C12
C3,C4,C7 u20+3u19+--~+18u+5
Co
cs, C10 w0 — 116 + - = T6u + 25




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y" + 13y + -+ + 15y + 1)?
€2:¢5, €6 (y'° — 3y° + 11y® — 18y™ + 33y° — 32y° + 34y* — 18y° + 8y* —y + 1)?
C11,C12
C3,C4,C7 yzo + 11y19 o TBY + 25
Co
c8, €10 Y20 — 5yl® 4 ... — 2276y + 625




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

uw = —0.979461 + 0.1882101
a= 159751 + 0.268971
b= 1.142330 + 0.7335761

1.87405 — 10.796601

—9.84814 + 6.973071

uw = —0.979461 — 0.1882101
a= 159751 —0.268971
b= 1.142330 — 0.7335761

1.87405 + 10.796601

—9.84814 — 6.973071

u = —0.843090 + 0.7095331
a = —1.51303 — 0.110331
b= —0.773203 + 0.3176701

—3.82303 + 1.331391

—9.94848 — 5.331491

u = —0.843090 — 0.7095331
a = —1.51303 + 0.110331
—0.773203 — 0.3176701

—3.82303 — 1.331391

—9.94848 + 5.331491

0.813642 + 0.7894641
—1.203100 + 0.5619361
—0.773203 4 0.3176701

3.82303 + 1.331397

—9.94848 — 5.331491

0.813642 — 0.7894641
= —1.203100 — 0.5619361
= —0.773203 — 0.3176701

—3.82303 — 1.331391

—9.94848 + 5.331491

= 0.004473 + 1.1886201
0.166971 + 0.4621361
0.351677 — 0.4818491

3.14663 4+ 1.179711

—5.77268 — 5.861871

0.004473 — 1.1886201
0.166971 — 0.4621361
0.351677 + 0.4818491

3.14663 — 1.179711

—5.77268 + 5.861871

—0.709802 + 0.2154911
1.80898 + 0.45664.1
0.794058 + 0.8232541

4.23778 — 1.455881

—7.02190 + 1.719831

—0.709802 — 0.2154911
= 1.80898 — 0.456641
= 0.794058 — 0.8232541

4.23778 + 1.455881

—7.02190 — 1.719831

10



Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —0.540050 + 1.1558801
a = —1.79606 — 1.068251
b= —1.014860 + 0.7987091

6.90157 + 6.239081

—5.40880 — 5.429211

u = —0.540050 — 1.1558801
a = —1.79606 4 1.068251
b= —1.014860 — 0.7987091

6.90157 — 6.239081

—5.40880 + 5.429211

u= 0.256269 + 1.2708301
a= 0.0612993 4 0.10445801
b= 0.794058 — 0.8232541

4.23778 + 1.455881

—7.02190 — 1.719831

u= 0.256269 — 1.2708301
a= 0.0612993 — 0.10445801
b= 0.794058 + 0.8232541

4.23778 — 1.455881

—7.02190 + 1.719831

0.242436 + 0.6106081
1.73616 + 1.088041
0.351677 + 0.4818491

,Q
e
I

3.14663 — 1.179711

—5.77268 + 5.861871

0.242436 — 0.6106081
= 1.73616 — 1.088041
0.351677 — 0.4818491

3.14663 + 1.179711

—5.77268 — 5.861871

0.595640 + 1.2113301
1.53920 — 1.034801
1.142330 + 0.7335761

1.87405 — 10.796601

—9.84814 + 6.973071

0.595640 — 1.2113301
1.53920 + 1.034807
1.142330 — 0.7335761

> Q@ €| @ €| & €| 9

1.87405 4+ 10.79660.1

—9.84814 — 6.973071

u = —0.340059 + 1.3453401
a = —0.0979292 — 0.04986851
b= —1.014860 — 0.7987091

6.90157 — 6.239081

—5.40880 + 5.429211

u = —0.340059 — 1.3453401
a = —0.0979292 + 0.04986851
b= —1.014860 + 0.7987091

6.90157 + 6.239081

—5.40880 — 5.429211

11



I I = (—uf — 2u* —v?a—u® —2u? + b—a—u, 2ua+3ub +--- 4+ 2a —
1, u” + 2u® + u* + 2ud +u? + 1)

(i) Arc colorings

- ()

)
D
u u—; 1>

a7 =

ag =

a
ub + 2ut + v2a + v + 2u? —|—a—|—u>

2u —u?

a—ud—2u?—u
a1 = \ S +2t+va+ud+2u2+a+u
a3: (u3 )
ua+u + 2uta 4+ 2ut 4+ 2uPa + 2u? — u
—uPa + ub — 2ula + 2u* — au + 2u?
—uba — ub — 2uta — 2ut — 2u%a — 2u¥ +u
—uba +vPa + ub —uta + u® +ula + 2ut + 4ud + au+ 2u® + a + 3u

ag —
ag =
as = u6+u5—u4+1)
—ut —u? -1
a11 =\ —yf —w® — 2t — 23 — 2 —u—1
-1
a0 =\ —uS —wP —ut—2u3 — 22 —u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4uS + 4u® + 4u* + 8u® + 8u? + 4u — 10

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 ut 4 Tut 4 - 4 254u + 121
€2, 5,6 w4 3ut? - 34u 4 11
C11,C12
C3,C4,C7 (u7+2u5 +ut 2+l + 1)2
Co
cs, €10 (u” — 4u + 8u® — Tut 4+ 2u® 4 3u? — 2u +1)2

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y -yt 4 56242y 4 14641
€2, 5, C6 Yy =Ty = 254y 4121

C11,C12

C3,C4,C7 7 6 5 4 3_ 9.2 _1\2

(y" +4y° +8y° +Ty" +2y° — 3y~ — 2y — 1)
Co

cs, €10 (y" 4+ 12¢° + 3y* + 223 — 39% — 2y — 1)?

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.468927 4 1.0085101
a=—0.137111 — 0.9457711
b = —0.543255 4 0.7531721

—1.13946 + 6.004841

—7.73392 — 8.086381

u = —0.468927 4 1.0085101
1.15206 + 0.834491
b= 1.402030 — 0.1051131

—1.13946 + 6.004841

—7.73392 — 8.086381

u = —0.468927 — 1.0085101
a = —0.137111 4 0.9457711
b= —0.543255 — 0.7531721

—1.13946 — 6.004841

—7.73392 + 8.086381

u = —0.468927 — 1.0085101
= 1.15206 — 0.834491
1.402030 + 0.1051131

—1.13946 — 6.004841

—7.73392 + 8.086381

—0.824481

= —1.134300 + 0.3942351 | 0.0577569 —10.7630
= —0.692469 + 0.6622231

= —0.824481

= —1.134300 — 0.3942351 | 0.0577569 —10.7630

= —0.692469 — 0.6622231

= 0.391915 + 0.6310801
= —0.915562 — 0.4798021

—3.69786 — 1.467761

—13.4123 + 4.85421

0.391915 + 0.6310801
1.23572 — 1.870061
1.148250 + 0.3422911

—3.69786 — 1.467761

—13.4123 + 4.85421

0.391915 — 0.6310801
= —0.915562 + 0.4798021
—1.164390 — 0.3282501

—3.69786 + 1.467761

—13.4123 — 4.85421

0.391915 — 0.6310801
= 1.23572 4 1.870061

b
U
a
b
U
a
b
U
a
b= —1.164390 + 0.3282501
U
a
b
U
a
b
U
a
b= 1.148250 — 0.3422911

—3.69786 + 1.467761

—13.4123 — 4.85421

15



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.489252 + 1.2399201
= —1.10571 4+ 0.945031
—1.09240 — 0.925311

7.27584 — 9.474581

—4.47246 + 6.218551

0.489252 + 1.2399201
= 0.404899 + 0.1332991
—0.557760 + 1.1493801

7.27584 — 9.474581

—4.47246 + 6.218551

0.489252 — 1.2399207
= —1.10571 — 0.945031
—1.09240 4 0.925311

7.27584 4 9.474581

—4.47246 — 6.218551

0.489252 — 1.2399201
0.404899 — 0.1332991
—0.557760 — 1.1493801

U
a
b
U
a
b
U
a
b
U
a
b

7.27584 4 9.474581

—4.47246 — 6.218551

16



IV.I* =(b+1, —u?>+2a+u+2, u* +u?+2
7=

(i) Arc colorings

w= (1)

a7 =

ag =

u
a3: u3+u
2_ 1
2
ag =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u? — 12

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs, C11 (u— 1)4
C12
1 4
C2,C6 (u+1)
63764367 u4+u2+2
C9
2 2
cg, C10 (u —u—|—2)

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)4
Ce6, C11, C12
C3,C4,C7 (y2+y+2)2
Cy
€8, C10 (y° + 3y +4)

19



(vi) Complex Volumes and Cusp Shapes

Solutions to If V—1(vol + /—1CS) Cusp shape

0.676097 + 0.9783181
= —1.58805 4 0.172281 —4.11234 — 5.333491 | —14.0000 + 5.29151
= —1.00000

= 0.676097 — 0.9783181
= —1.58805 — 0.172281 —4.11234 4 5.333491 | —14.0000 — 5.29151

= —0.676097 + 0.9783181
= —0.91195 — 1.150601 —4.11234 4 5.333491 | —14.0000 — 5.29151
= —1.00000

= —0.676097 — 0.9783181
= —0.91195 + 1.150601 —4.11234 — 5.333491 | —14.0000 + 5.29151

U
a
b
U
a
b = —1.00000
U
a
b
U
a
b = —1.00000

20



Igl. — <_,u11+u10+.._+b_a’ zull_u10+.'_+a2+2’ ulz_ull+..

(i) Arc colorings

e

a7 =

az =

ag —

ult — w0 4 40® — 4 4+ Tu” — Tub + 5w —S5ut +wfa+ud — w4 a

—ult 4 10 — 4?4 4u® — 77 + Tu — 5u® + 5ut — ua — u® 4 u?
wtt — w0 4+ 40® — 4w + U — 7wl + 5w —S5ut +ufa+ud — i+ a

uta —ul%a + - +u+2
—uPa +ub — 2ula + 2u* — au + 2u?
Sl 0 2 4oy
utt —ul% 4+ o+ a+2u
w0 +3ud +4uS +ut —u?2 -1
w40 —ud + e —3ub 4+ 5w —dut +ud — 2 -1

w’ + 2u® + 203

uw? +3u" +3u° —u
—ult —4u® —6u” — 205 + 3uP +2u+1

)

1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u° — 12u” — 12u® + 4u> + 8u — 6

)

Vv

a

21
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)

—ud+1)

)
)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u'? + 5ut + - 4 40u + 9)?
€2, s, Co (u12 —utt — 20t + 40® 4+ u® — 50" — w8+ Tu® — ut — 9ud + 6u + 2u — 3)2
C11,C12
C3,C4,C7 (u12 — M 4010 — 400 7 — 7T +5u8 — 5ud 4wt — W+ 1)2
Cy
€8, C10 (u'? — Tutt £ 20 4 1)2

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y'? + 3y + - — 196y + 81)2
C2,Cs, Cg (y12_5y11+_.__40y+9)2
C11,C12
C3,C4,C7 (y12+7y11+-~-+2y2+1)2
Cy
Cg, C10 (y12 —5y11 ++4y+1)2

23



Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = 0.386547 4 0.8991251
a = —1.49862 + 0.552451

b = —1.298590 + 0.0853721

—2.96024 — 1.972411

—11.42428 4- 3.684781

0.386547 + 0.8991251
0.16732 — 1.657181
b= 0.805413 + 0.4899161

u =

a =

—2.96024 — 1.972411

—11.42428 4- 3.684781

u= 0.386547 — 0.8991251
a = —1.49862 — 0.552451
b= —1.298590 — 0.0853721

—2.96024 4 1.972411

—11.42428 — 3.684781

u=0.386547 — 0.8991251
= 0.16732 4+ 1.657181
0.805413 — 0.4899161

—2.96024 4 1.972411

—11.42428 — 3.684781

= —0.206575 + 1.0620801
2.35205 — 1.462911
—0.666209

0.738851

—2.58322 4 0.1

—0.206575 + 1.0620801
= 1.57640 + 2.524991
= 1.14988

0.738851

—2.58322 4+ 0.1

= —0.206575 — 1.0620801
2.35205 + 1.462911

0.738851

—2.58322 4+ 0.1

—0.206575 — 1.0620801
1.57640 — 2.524991
1.14988

0.738851

—2.58322 4+ 0.1

0.869654 + 0.0499311
0.988080 + 0.4572401
0.547085 + 0.9535231

3.69558 4 4.592131

—7.41886 — 3.204821

0.869654 + 0.0499311
= 1.181660 — 0.5467281

b
U
a
b
U
a
b
U
a
b= —0.666209
U
a
b
U
a
b
U
a
b= 0.973781 — 0.7904281

3.69558 4- 4.592131

—7.41886 — 3.204821
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Solutions to I

V=1(vol + v=1CS)

Cusp shape

0.869654 — 0.0499311
a= 0.988080 — 0.4572401
0.547085 — 0.9535231

3.69558 — 4.592131

—7.41886 + 3.204821

u= 0.869654 — 0.0499311
a= 1.181660 + 0.5467281
0.973781 + 0.7904281

3.69558 — 4.592131

—7.41886 + 3.204821

u = —0.460851 4 1.2264501
a= 1.09714 4 0.907131
b= 0.973781 — 0.7904281

3.69558 + 4.592131

—7.41886 — 3.204821

u = —0.460851 + 1.2264501
a = —0.257899 + 0.1798971
b= 0.547085 + 0.9535231

3.69558 + 4.592131

—7.41886 — 3.204821

u = —0.460851 — 1.2264501
a= 1.09714 —0.907131
b= 0.973781 + 0.7904281

3.69558 — 4.592131

—7.41886 + 3.204821

u = —0.460851 — 1.2264501
a = —0.257899 — 0.1798971
b= 0.547085 — 0.9535231

3.69558 — 4.592131

—7.41886 + 3.204821

u = 0.436607 4 1.2537501

a = —1.14929 4 0.876851 7.66009 —3.73050 4 0.1
b= —0.769522 — 0.8811871
u = 0.436607 4 1.2537501
a= 0.286388 + 0.3768911 7.66009 —3.73050 4 0.1
b= —0.769522 + 0.8811871
u = 0.436607 — 1.2537501
a = —1.14929 — 0.876851 7.66009 —3.73050 +- 0.1
b= —0.769522 + 0.8811871
u = 0.436607 — 1.2537501
a= 0.286388 — 0.3768911 7.66009 —3.73050 4 0.1

b= —0.769522 — 0.8811871
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= —0.525382 + 0.3353201
= —0.341666 — 0.4242561
= 0.805413 + 0.4899161

—2.96024 — 1.972411

—11.42428 4 3.684781

= —0.525382 + 0.3353207
= —1.90157 — 1.24427]
—1.298590 +- 0.0853721

—2.96024 — 1.972411

—11.42428 4 3.684781

—0.525382 — 0.3353207
—0.341666 + 0.4242561
0.805413 — 0.4899161

—2.96024 4 1.9724171

—11.42428 — 3.684781

—0.525382 — 0.3353207
—1.90157 + 1.244271
—1.298590 — 0.0853721

u
a
b
u
a
b
u
a
b
u
a
b

—2.96024 4 1.972411

—11.42428 — 3.684781
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VL I¥ =(b+u, 2a —u+1, u? +1)

(i) Arc colorings

e ()
|

)
101> 1
)
)

U
0

a7 =

ag =

as =

L\JM—A ~—

L\JM—A

")

ag =

u —

SIS

1

2
—U

U

2

-1
ail =
ajp = (—2u — 1)

(ii) Obstruction class =1

)

ag =

as =

(o
(-
(
.-
G
(
(™
(
(3
(5

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u+1)?
€2,C3,C4
2
€5, C6, C7 u +1
€9, C11, C12
2
Cg,C10 (u — 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
—1)2
C1,C8,C10 (y )
C2,C3,C4
2
C5,Cg,C7 (y+1)
C9, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1(vol + y/=1CS)

Cusp shape

1.0000001
—0.500000 + 0.5000001
— 1.0000001

4.93480

— 1.0000001
= —0.500000 — 0.5000001
1.0000001

>~ Q@ 2|l & =

4.93480
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VIL I¥ =(b—1, u* +u?* +2a+u—3, u*+1)

(i) Arc colorings

w= (1)

1
a7 = 0

1
ag = U2

u?+1
ag— u2

(h )
a1z = 1

(B ae )
ay = 1

U
a3 = \uyd+u

bt b+ Ju
as = -1

o+ but §
a2 = ud+u+1

U
as = \ud+u

1
ailr = \0

(ii) Obstruction class =1

(iii) Cusp Shapes = —16
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
4
C1,C2,Cq (U,—l)
€3,C4,C7 w41
C9
1 4
C5,C11, C12 (u+1)
2 2
€8, C10 (u”+1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)4
Ce6, C11, C12
C3,C4,C7 (y2+ 1)2
Cy
4
€8, €10 (y+1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1C)

Cusp shape

0.707107 + 0.7071071
1.50000 — 1.207111
1.00000

—4.93480

—16.0000

0.707107 — 0.7071071
1.50000 + 1.207111
1.00000

—4.93480

—16.0000

—0.707107 4 0.7071071
1.50000 — 0.207111
1.00000

—4.93480

—16.0000

> R €|l & €| & €|l & &

—0.707107 — 0.7071071
1.50000 + 0.207111
1.00000

—4.93480

—16.0000
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(i) Arc colorings

-1
aq = 0
a7 =

ag =

ag =

a9 =

VIIL I? = (a, b—1, v+ 1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,Cg u—1
C3,C4, C
3, C4, C7 u
€8, C9, C10
C5,C11, C12 u+1
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C2,Cs5 Y — 1
C6,C11,C12
C3,C4,C7 y
g, C9, C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —3.28987 —12.0000
b= 1.00000
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IX. u-Polynomials

Crossings u-Polynomials at each crossing
(u—1)°(u+1)2
“ (u'® 4 3u® 4+ 11u® + 18u” + 33u® + 32u® + 3du? + 18u® + 8u® + u + 1)?
((u? 4 5utt 4 40u 4 9)?) (ut® + ut? 4 - 4 45u 4 4)
(uM 4 Tut 4+ 254u 4 121)
(u—1)°(u+1)*(u®+ 1)
€2, c(u'? = — B 420" 4 30 — 40P + 4P - u+1)?
C(ut? = et =200 40 - u® - 5u” —ub + Tu® — ut — 9ud + 6u® + 2u — 3)?
(w4 3ur? 4+ 3u + 2) (M 4 3ut - 34w+ 1)
€3, ¢4, Cr u(u? + 1) (u* + 1) (u* +u? +2)(u” + 2u° + u* + 2u® + u? +1)?
Co S(u'? =t 4 et — 4u® 4+ Tu® — T 4 5ub — 5u® Fut — w4 1)?
(w4 3utt 4 20+ 2) (w0 4 3ut -+ 18u + B)
(u—1D*(u+1)°(u? +1)
€5, €11, €12 (' = —u® 20"+ 30— 4ud A — - 1)2
C(u'? =t = 200 + 40 4 u® — 5u” — w8+ Tu® — ut — 9ud + 6u® + 2u — 3)?
(w4 3ur? 4+ 3u+ 2) (Mt 4 3ut - 34w+ 1)
u(u —1)*(u? +1)*(u? —u +2)2
€8, C10

(u” = 4u® 4 8u® — Tut + 203 + 3u? — 2u + 1)?
(W=t 20+ D)D) (W - 6ul? -+ 120+ 4)
C(u? = 11" + - — T6u + 25)
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X. Riley Polynomials

Crossings Riley Polynomials at each crossing
o ((y— ") (" + 13y + - + 15y + 1)°
((y™ + 3y 4 - =196y + 81)%)(y" + 11y"* + - - + 913y — 16)
Sy oyt 4 56242y + 14641)
C2, C5, Cg (y - 1)9(9 =+ 1)2
c1n, cr (5" = 3y° + 11y° — 18y” + 33y° — 32° + 3dy* — 18y° + 8y? —y +1)°
(' =Byt = 40y +9)2) (5 — y!? 4+ By — 4)
) (y14 o 7y13 + - — 254y + 121)
y(y +D*(° + 1D +y +2)°
C3,C4,C7 7 6 5 4 3 2 2
. (Y 4y 8y Ty + 27 = 3yT — 2y — 1)
. ((y12 + 7y11 4+ 4 2y2 —+ 1)2)(y13 + 6y12 +--- 4+ 12y - 4)
(y?0 + 11y" 4 - + T6y + 25)
yly =12 (y+ D'y + 3y +4)°
Cg, C10

(Y7 1297 + 3yt + 22y% — 3y? — 2y — 1)?
(" =5yt 4 Ay +1)%) (Y + 6y 4+ 592y — 16)
(20 — 5y 4 .. — 2276y + 625)
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